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{/min a, | E (a, —a_ )/ E |k, x10°/min""
0 34.50 45.27 —
1435 31.10 41.87 5.44
4315 25.00 35.77 5.46
7070 20.16 30.93 5.39
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29925 -1.65 9.12 5.35
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CH,COOC,H + NaOH — CH,COONa + C,H ,OH
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SLL | #HIHE(mmHg) | A13E(-dp/dt)
Po(H2) | Po(N>) (mmHg-h-1)

1 100 1.00 0.0100
2 200 1.00 0.0400
3 400 0.500 0.0800
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1 100 1.00 0.0100
2 200 1.00 0.0400
3 400 0.500 0.0800
2 X
— =4 = (m) =2"=>x=2

SCI 2 53 LA .

X y y
v_s=2=(ﬂ) (M) =22(1) Syt
v, 200 ) \ 1.00 2



+ N, —= 2NH,

Po.u, Po,n, 0
t=t pyy —3Pon, —Pn,) P, 2(Po,n, — Pn,)

P: = Pou, _3(170,1\72 _pN2)+pN2 "'2(170,N2 _PNZ)

= Pog, T Pon, T 2PN2

d d
(— P, J - p’j = 0.005mmHg - h™'
- £=0

dt dt




¥IE(mmHg) | ¥ (-dp/dt)
Po(H2) | Po(N,) (mmHg-h-1)

\lL
/H
=
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#1: & ZA(9)+3B(g) —2D(g),BMR MKLERFIER:  _49p.
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